Supplementary Material C: Sensitivity test of real MCSA data
results

Sensitivity test of real MCSA data: MMSE response parameters
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Sensitivity test of real MCSA data: other response parameters, and initial
probability parameters
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Sensitivity test of real MCSA data: log-rate
eters
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Sensitivity test of real MCSA data: log-rate iage parameters
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Sensitivity test of real MCSA data: log-rate iage parameters (continued)

006 0.10

0.02

0.04 0.08

0.00

0105  0.120

0.090

State 4 (A+N+) ———> State 6 (DemA+)

0 1000 2000 3000 4000

State 5 (DemA-) —-——> State 6 (DemA+)

0 1000 2000 3000 4000

States 1-4 (NonDem) ---> State 7 (Dead)

0 1000 2000 3000 4000

10 20 30

0 20 40 60 80 0

100

60

0.02 0.04 0.06 0.08

Mean =0.0443 Median =0.0439

0.00

T T T
0.02 0.04 0.06

Mean =0.0415 Median =0.0422

1
0.08

0.10

0.090 0.095 0.100 0.105 0.110 0.115 0.120

Mean =0.1062 Median =0.1064

0.10 0.14

0.06

State 5 (DemA-) ———> State 7 (Dead)

=]

<+

=)

]

(=]

&

=)

)
0 1000 2000 3000 4000 5000 0.06 0.08 0.10 0.12 0.14

Mean =0.1064 Median =0.107

=)

]

o

=]
T T T T T T T T T T T 1
0 1000 2000 3000 4000 5000 0.00 0.02 0.04 0.06 0.08

Mean =0.048 Median =0.0482

0.10



Sensitivity test of real MCSA data: log-rate
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Sensitivity test of real MCSA data: log-rate educ parameters
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Sensitivity test of real MCSA data: log-rate apoed4 parameters
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